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AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;01

										          gFjp - A
ehd;F (04) fl;lha tpdhf;fs;

(nkhj;jk; 20 Gs;spfs;)

tpdh 1w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs;    

(a)	 ciog;G %yk; xUthFk; ve;jnthU tUkhdKk; Cjpa tUkhdkhFk;.

	 cjhuzk; : 	 njhopy; %ykhd rk;gsk;

				    MNyhrid fl;lzk;

				    rpwpa tpahghuk; itj;jpUj;jy; 

				    kzpj;jpahya mbg;gilapy; fl;lzk; toq;Fk; NtNwJk; njhopw;ghLfs; 

(03 Gs;spfs;)

(b) 	 mD$yq;fs; 

•	 xU tUkhdj;ijr; rk;ghjpf;f njhlq;f %yjdk; Njitapy;iy.

•	 xU %jyPl;Lf;fhd Nrkpg;G my;yJ xU nray;jpwd; tUthia xUthf;Ftjw;F ,J 

cjTfpwJ.

gpujp$yk;

•	 ePq;fs; Ntiyia epWj;jptpl;lhy;> gzk; rk;ghjpg;gij epWj;Jq;fs;

•	 jpwd; ,y;yhtpl;lhy;> gzk; rk;ghjpg;gJ fbdk;.

•	 ciof;fg;gl;l tUkhdj;jpw;F xg;gPl;lstpy; mjpf tpfpjj;jpy; tup tpjpf;fg;gLfpwJ.

(02 Gs;spfs;)

(nkhj;jk; 05 Gs;spfs;)

tpdh 2w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs;    
epjpf; fz;Nzhl;lk;

•	 nkhj;j ,yhg tpfpjk;

•	 epfu ,yhg tpfpjk;

•	 %yjd Ntiytha;g;G jpUk;gy;

•	 gw;rf;fu tpA+fk;

•	 nrhj;J tUtha; tpfpjk;

•	 fldhsp

•	 fld; toq;Feu;

•	 tpw;gid tsu;r;rp

,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk;

fy;tp kw;Wk; gapw;rpg; gpupT

AA3 guPl;ir – [dtup 2018
(AA32) Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

gupe;Jiuf;fg;gl;l tpilfs;



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;02

thbf;ifahsu; fz;Nzhl;lk;

•	 thbf;ifahsu; KiwghLfspd; vz;zpf;if

•	 Gjpa nghUl;fSf;fhd thbf;ifahsupd; <u;g;G (nghUl;fspd; tpw;gid tpfpjk;)

•	 kPz;Lk; tUk; thbf;ifahsu; vz;zpf;if

•	 xl;Lnkhj;j thbf;ifahsu; jpUg;jp

•	 gioa thbf;ifahsupd; gupe;Jiu %yk; Gjpa thbf;ifahsu;.

(05 Gs;spfs;)

tpdh 3w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs;    

(05 Gs;spfs;)

tpdh 4w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs;    

(a)

xbTg; ngWkjp MdJ 4 Mz;bd; Kbtpy; fhRg; gha;thf fUj;jpy; nfhs;sg;gLk;. 
		
(b)
kPs;nrYj;Jiff; fhyk;.

			   = 2  tUlq;fs; + 280/320* 12 khjq;fs; 
		  	 = 2 tUlq;fs; kw;Wk; 10.5 khjq;fs;
						      (nkhj;jk; 05 Gs;spfs;)

gpupT  A  ,d; epiwT

 

  2016/17 

njhf;Fg; Gus;T fhyk; 365/5 73.00 

tpahghu tUkjpfs; Gus;T fhyk; 365/8 45.63 

  118.63 

(-)tpahghu nrd;kjpfs; jPu;g;gdT fhyk;  (20.00) 

nraw;gL %yjd Rw;Wf; fhyk;  98.63 

  98.6 ehl;fs; 

 

 

tUlk; ,yhgk; Nja;khdk; fhRg; gha;T C.C.F 

0   (850.00) (850.00) 

1 90  150 240 (610.00) 

2 180 150 330 (280.00) 

3 170 150 320 40.00 

4 20  150 420  

   (170 + 250)   

 

 

  2016/17 

njhf;Fg; Gus;T fhyk; 365/5 73.00 

tpahghu tUkjpfs; Gus;T fhyk; 365/8 45.63 

  118.63 

(-)tpahghu nrd;kjpfs; jPu;g;gdT fhyk;  (20.00) 

nraw;gL %yjd Rw;Wf; fhyk;  98.63 

  98.6 ehl;fs; 

 

 

tUlk; ,yhgk; Nja;khdk; fhRg; gha;T C.C.F 

0   (850.00) (850.00) 

1 90  150 240 (610.00) 

2 180 150 330 (280.00) 

3 170 150 320 40.00 

4 20  150 420  

   (170 + 250)   

 

ehl;fs;

ehl;fs;



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;03

										          gFjp - B
%d;W (03) fl;lha tpdhf;fs;.

(nkhj;jk; 30 Gs;spfs;)

tpdh 5w;fhd ghpe;Jiuf;;fg;gl;l tpilfs;   

(10 Gs;spfs;)

          (&. ‘000) 

&. 000 ngUk;ghYk; rpwe;j #o;epiy Nkhrkhd #o;epiy  

tpw;gidfs; 67,320  71,760 62,856 

khWk; fpuak; (28,544)  

(233.20 x 122.40)  

 

(28,829)  

(231 x 124.80) 

(27,657)  

(237.60 x 116.40) 

gq;fspg;G 38,776  42,931 35,199 

epiyahd fpuak; (15,900)  (15,750) (16,200) 

,yhgk; 22,876  27,181 18,999 

 

nraw;ghLfs;  

 ngUk;ghYk; rpwe;j #o;epiy Nkhrkhd #o;epiy  

tpw;gid 
vz;zpf;if 

120,000*1.02  122,400 120,000*1.04 124,800 120,000*0.97 116,400 

tpw;Fk; 
tpiy 

&. 500*1.1  

 

550.00 &. 500*1.15 575.00 &. 500*1.08 540.00 

tpw;gid 
kjpg;G 

&. 000 

67,320 
(122,400*550)  

 

 71,760 
(124,800*575)  

 62,856 
(116,400*540) 

 

khWk; fpuak; &.220*1.06 

 

233.20 &.220*1.05 231.00 &.220*1.08 237.60 

epiyahd 
fpuak; 

&. 000 

&.15,000*1.06 15,900 &.15,000*1.05 15,750 &.15,000*1.08 16,200 

 

 

nra;iffs;



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;04

tpdh 6w;fhd ghpe;Jiuf;;fg;gl;l tpilfs;   
(a) $yp

$yp kzpj;jpahyq;fs; tiuaiwf; fhuzpahFk;.

(04 Gs;spfs;)

 

nghUs; Nfs;tp Njitg;gLk; 
$yp (kzp) 

Njitg;gLk; nkhj;j 
kzpj;jpahyq;fs; 

[{]; A 4,000.00  1.00 4,000.00 

[{]; B 3,800.00  1.20 4,560.00 

[{]; C 4,500.00 0.80 3,600.00 

   12,160.00  

fpilf;ff;$ba $yp 
kzpj;jpahyq;fs; 

  (11,000.00)  

gw;whf;Fiw   1,160.00  

 

,ae;jpu kzpj;jpahyaq;fs; 

nghUs; Nfs;tp Njitg;gLk; 
,ae;jpu (kzp) 

Njitg;gLk; nkhj;j 
kzpj;jpahyq;fs; 

[{]; A 4,000.00  0.40 1,600.00 

[{]; B 3,800.00  0.60 2,280.00 

[{]; C 4,500.00 0.30 1,350.00 

   5,230.00  

fpilf;ff;$ba ,ae;jpu 
kzpj;jpahyq;fs; 

  (7,000.00)  

Nkyjpfk;   1,770.00  

 

 [{]; A [{]; B [{]; C 
tpw;Fk; tpiy 8,500 12,500 6,300 

khWk; fpuak;    

Neu;nghUs; 3,800 6,900 3,200 

$yp 400 480 320 

khWk; cw;gj;jp Nke;jiy 400 400 400 

 (4,600) (7,780) (3,920) 

myfpw;fhd gq;fsp;gG 3,900 4,720 2,380 

xU myfpw;fhd Njitg;gLk; $yp 
(kzp)  

1.00 1.20 0.80 

xU $yp kzpf;fhd gq;fspg;G 3,900.00 
 

3,933.33 2,975.00 

cw;gj;jp jutupir 2 1 3 

 

nghUs; Nfs;tp Njitg;gLk; 
$yp (kzp) 

Njitg;gLk; nkhj;j 
kzpj;jpahyq;fs; 

[{]; A 4,000.00  1.00 4,000.00 

[{]; B 3,800.00  1.20 4,560.00 

[{]; C 3,050.00 0.80 2,440.00 

   11,000.00 

 

cj;jk cw;gj;jpf; fyit 

A = 4,000  
B = 3,800  
C = 3,050 

 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;05

(06 Gs;spfs;)

(nkhj;jk; 10 Gs;spfs;)

tpdh 7w;fhd ghpe;Jiuf;;fg;gl;l tpilfs;   

(nkhj;jk; 10 Gs;spfs;)

gpupT  B  ,d; epiwT

 [{]; A [{]; B [{]; C 
tpw;Fk; tpiy 8,500 12,500 6,300 

khWk; fpuak;    

Neu;nghUs; 3,800 6,900 3,200 

$yp 400 480 320 

khWk; cw;gj;jp Nke;jiy 400 400 400 

 (4,600) (7,780) (3,920) 

myfpw;fhd gq;fsp;gG 3,900 4,720 2,380 

xU myfpw;fhd Njitg;gLk; $yp 
(kzp)  

1.00 1.20 0.80 

xU $yp kzpf;fhd gq;fspg;G 3,900.00 
 

3,933.33 2,975.00 

cw;gj;jp jutupir 2 1 3 

 

nghUs; Nfs;tp Njitg;gLk; 
$yp (kzp) 

Njitg;gLk; nkhj;j 
kzpj;jpahyq;fs; 

[{]; A 4,000.00  1.00 4,000.00 

[{]; B 3,800.00  1.20 4,560.00 

[{]; C 3,050.00 0.80 2,440.00 

   11,000.00 

 

cj;jk cw;gj;jpf; fyit 

A = 4,000  
B = 3,800  
C = 3,050 

  ,ae;jpu 
fpuak; 

nraw;ghl;L 
,yhgk; 

tup 
nfhLg;gdT 

fhRg; 
gha;T 

COC @ 10% ,w;iw 
kjpg;G 

Y0 (9,000)    (9,000) 1.000 (9,000) 

Y1 -  3,900 (462) 3,438 0.909 3,125 

Y2 -  4,300 (574) 3,726 0.826 3,078 

Y3 -  4,600 (658) 3,942 0.751 2,960 

Y4 -  4,900 (742) 4,158 0.683 2,840 

Y5 -  4,400 (1,232) 3,168 0.621 1,967 

     epfu 
,w;iwg; 
ngWkjp 

4,970 

NkNy fzf;fplg;gl;l gb> Gjpa ve;jpuj;jpy; KjyPL nra;tJ rhj;jpakhdJ. 

 

 

nraw;ghLfs;  

           (&. ‘000) 

 Y1 Y2 Y3 Y4 Y5 

PBT  2,100  2,500 2,800 3,100 2,600 

Nja;khdk; 1,800  1,800  1,800  1,800  1,800  

fhRg; gha;T 3,900  4,300 4,600 4,900 4,400 

%yjdg; gb (2,250)  (2,250) (2,250) (2,250) - 

tuptpjpf;fj;jf;f 
,yhgk; 

1,650  2,050 2,350 2,650 4,400 

tup 
nfhLg;gdT 
28% ,y; 

462  574 658 742 1,232 

 

 ,ae;jpu 
fpuak; 

nraw;ghl;L 
,yhgk; 

tup 
nfhLg;gdT 

fhRg; 
gha;T 

COC @ 10% ,w;iw 
kjpg;G 

Y0 (9,000)    (9,000) 1.000 (9,000) 

Y1 -  3,900 (462) 3,438 0.909 3,125 

Y2 -  4,300 (574) 3,726 0.826 3,078 

Y3 -  4,600 (658) 3,942 0.751 2,960 

Y4 -  4,900 (742) 4,158 0.683 2,840 

Y5 -  4,400 (1,232) 3,168 0.621 1,967 

     epfu 
,w;iwg; 
ngWkjp 

4,970 

NkNy fzf;fplg;gl;l gb> Gjpa ve;jpuj;jpy; KjyPL nra;tJ rhj;jpakhdJ. 

 

 

nraw;ghLfs;  

           (&. ‘000) 

 Y1 Y2 Y3 Y4 Y5 

PBT  2,100  2,500 2,800 3,100 2,600 

Nja;khdk; 1,800  1,800  1,800  1,800  1,800  

fhRg; gha;T 3,900  4,300 4,600 4,900 4,400 

%yjdg; gb (2,250)  (2,250) (2,250) (2,250) - 

tuptpjpf;fj;jf;f 
,yhgk; 

1,650  2,050 2,350 2,650 4,400 

tup 
nfhLg;gdT 
28% ,y; 

462  574 658 742 1,232 

 

nra;iffs;

tupf;F Kd;duhd 
,yhgk;



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

										          gFjp - C
,uz;L (02) fl;lha tpdhf;fs;.

(nkhj;jk; 50 Gs;spfs;)

tpdh 8w;fhd ghpe;Jiuf;fg;gl;l tpilfs;;; 

(12 Gs;spfs;)

06

 &. 

tpw;gid 1,800,000 

nghUl;fs; - xbTg; ngWkjp (1>400 kPl;lu; x 45) (63,000) 

nghUs; nfhs;tdT [(9,000 x 0.4 - 1,400) x 250] (550,000) 

$yp:   

   rk;gsk; - nghUj;jkhd nryT my;y - 

   Nkyjpf Neuf; nfhLg;gdT (500 x 160 x 1.5) (120,000) 

   Nkyjpf Neuf; nfhLg;gdT fpukkhd fl;lisf;F (300 x 160 x 1.5) (72,000) 

Nkw;ghu;itahsu; - epiyahd rk;gsk; (nghUj;jkw;wJ) - 

khWk; Nke;jiyfs; (2,250 x 80) (W-01) (180,000) 

,ae;jpu kzpj;jpahyaq;fs; (8,500 x 6) (51,000) 

tbtikg;Gf; fpuak; - 

,yhgk; 764,000 

 

,e;jf; fl;lisia Vw;Wf;nfhs;s Ntz;Lk;. 

(W-01) 

$yp kzpj;jpahyaq;fs;   =  15 x 9,000 

             60 

    =  2,250 kzpj;jpahyaq;fs; 

 

nra;if 01



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;07

(B)	 (a)

 cau;e;j 

jho;e;j 

cau;e;j 

jho;e;j 

cau;e;j 

jho;e;j 

cau;e;j 

jho;e;j 

tpsk;guj;Jld; 

tpsk;guk; ,y;yhJ 

tpsk;guj;Jld; 

tpsk;guk; ,y;yhJ 

tpisTg; Gs;sp A 

tpisTg; Gs;sp B 

tpisTg; Gs;sp C 

tpisTg; Gs;sp D 

2018 Nk mwpKfg;gLj;jy; 

2018 A+iy mwpKfg;gLj;jy; 

nghUs; mwpKfk; 

iftpl;l nghUs; 

jPu;khdg; Gs;sp H 

jPu;khdg; Gs;sp E 

jPu;khdg; Gs;sp F 

(09 Gs;spfs;)

(b)

tpisTg; Gs;sp A		  =	 vjpu;ghu;f;fg;gl;l nkhj;j gq;fspg;G

(tpsk;guj;Jld;)		  =	 [(1,450,000 x 0.7) + (860,000 x 0.3)]
				    = 	 1,273,000

tpsk;guf; fpuak;		  = 	 295,000	
epfu gq;fspg;G		  = 	 978,000

tpisTg; Gs;sp B		  =	 vjpu;ghu;f;fg;gl;l nkhj;j gq;fspg;G
(tpsk;guk; ,y;yhJ)		  =	 (1,300,000 x 0.5) + (650,000 x 0.5)
				    = 	 975,000

(4 Gs;spfs;)

(nkhj;jk; 25 Gs;spfs;)



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

tpdh 9w;fhd ghpe;Jiuf;fg;gl;l tpilfs;;; 

(A)	 (a)

08

(12 Gs;spfs;)

tpw;gid tpiy Kuz;  

=  cz;ik vz;zpf;if x (cz;ik tpiy – epiyahd tpiy)  

=  10,850    x  (9,135,700/10,850 - 800)  
=  10,850 (842-800)  
= 455,700    rhjfkhdJ 
 

 
tpw;gidf; fdtsT vy;iy Kuz; 

=  ghjplg;gl;l vy;iy x (cz;ik vz;zpf;if - ghjplg;gl;l vz;zpf;if) 

=  130 x    (10,850 - 11,000)  
=  19,500     ghjfkhdJ 
 
 
Neu; nghUs; tpiy Kuz; 
 
=  cz;ikg; ghtid x (epiyahd tpiy - cz;ik tpiy) 
=  41,360    x  (75 - (3,308,800/41,360)  
=  41,360 (75 - 80)  
= 206,800    ghjfkhdJ 
 
 
Neu; nghUs; ghtid Kuz; 
 
= epiyahd tpiy x (epiyahd ghtid - cz;ikg; ghtid) 
=  75   x   (10,850*4Kg - 41,360)  
= 75 (43,400–41,360)  
=  153,000    rhjfkhdJ 
 
 
Neu; $yp tPj Kuz; 
 
= toq;fpa cz;ik kzpj;jpahyaq;fs; x (epiyahd tPjk; - cz;ikg; tPjk;) 
 
=  (&.2,681,800 / 220) x (250 - 220)  
=  12,190 x 30  
=  365,700    rhjfkhdJ 
 
 
Neu; $yp tpidj;jpwd; Kuz; 
 
= epiyahd tPjk; x (epiyahd kzpj;jpahyaq;fs; - cz;ikg; kzpj;jpahyaq;fs;) 
=  250  x  (10,850 - 12,190)  
=  335,000    ghjfkhdJ 
 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;09

(05 Gs;spfs;)

(03 Gs;spfs;)

(02 Gs;spfs;)

njhopw;ghl;Lf; $w;W   &. 

ghjplg;gl;l gq;fspg;G 11,000*130/-  1,430,000  
tpw;gidf; fdtsT vy;iy Kuz;   (19,500)  

cz;ik tpw;gid ghjplg;gl;l gq;fspg;G   1,410,500  
khWk; fpuak; A F  
tpw;Fk; tpiy Kuz;  455,700   
D. nghUs; tpiy Kuz; 206,800    

D. nghUs; ghtid Kuz;  153,000   

D. $yp tPj Kuz;  365,700   

D. $yp tpidj;jpwd; Kuz; 335,000    

khWk; Nke;jiy nrytpd Kuz; 75,950    
khWk; Nke;jiy tpidj;jpwd; Kuz; - 99,050   
nkhj;j khWk; fpuak;  617,750 1,073,450 455,700 
cz;ikg; gq;fspg;G   1,866,200  
 

 
(B) 
 
(a) 

Ke  =  D0 (1+g) + g  
        P0  

Ke  =  2.8 (1+.05) + .05 x 100  
       21  

Ke  =  19%  
     

 
(b) 

Kp  =  D0  

P0  

Kp  =  1.2 x 100  
12  

Kp  =  10%  
 

(b)



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;10

(03 Gs;spfs;)

(nkhj;jk; 25 Gs;spfs;)

(c)	

gpupT  C  ,d; epiwT

tUlk;  fhRg; 
gha;T 

10% js;Sgb 
apy; 

DCF 15% 
js;Sgbapy; 

DCI 

0 njhFjpf;fld; 
toq;Fjy; 

98 1 98 1 98 

1-2 tl;b 
nfhLg;gdT 

12 1.735 (20.82) 1.625 (19.5) 

2 kPl;G (100)  0.826 (82.6) 0.756 (75.6) 

    (5.42)   2.9 

 
 
 
IRR   = 15%  -    5%   x   2.9  

    8.32  
           =  13.2% 
 
my;yJ 

IRR   = 10% + [(5% / 8.32) x 5.42]  
= 13.2% 

 



AA3 / MAF Kfhikj;Jtf; fzf;fPLk; epjpapaYk;

Notice : 
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understanding as well as stay relevant in the art of answering questions at examination level.
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